Derivative of a Vector Valued Function
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Find the derivative of:

f(t)
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Find the derivative of:
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P = (%) i+ (Int)j



Find the derivative of:




Find the derivative of:

R(t) = (cosht, sinht, tanh¢)



Find the derivative of:

R(t) = (cosht, sinht, tanh¢)

R'(t) = (sinht, cosht, sech?t)



Derivative of a Sum of Functions
(u+v) =u +

Equivalently,
i(u(t) +u(t)) = du + dv
dt Cdt dt

Is this also true if 1(¢) and V(¢) are vectors?



U+ vV = (ui(t) + v1(t), ua(t) + va(t))
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Derivative of a Product of Functions
(wv)" = uv" + vu/
Equivalently,
d dv du
—(u)v(t)) = u— + v—
g o) = tvg

Is this also true if U(t) and V(t) are vectors?
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